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ECONOMICS. Is the study of how socletv provldes lor ltsell by rnaklnl! the Lnoqt efllcwnt use of ’f; ’
scarce resources so that both private and soclal welfare may be improved. Aé #
« Economics provides a framework Tor studying how Individuals, "households, firms, [7 l
governments and global organlzatlons behave and take a W|de range of decl,lom, 7 ,7'
1.1 l\ht,roewnomics and M'tcroeconomics e : : 72
Economics can be broadly divided into two branches: " - e o A 1 7
« Microeconomics , m 4Lt B s
. Macroe'cono'mlcs . I M VTR .71 .
\.,_....‘ . . S T oty : y |
MlCROECONOMlCS refers to the body of economlc pl’lnCIples and co_ncepts that explalns the - ? I
behaviour of individuals and ftrms in dlflerent S|tuat|ons The issus. co\Jered in microeconomics l{/ I
_ caninclude scarcrty and opportumty costs pr!cmg of goods and servrces utrllty, budget line and ,”
h mdlfferente curves, costs, revenues and ploflts ofhrms. T i

=

MACROECDNOMICS refers 10 the economic lssues that relate to the whole' economy These

issues can mclude economic growth unemployment |nflat|on '?natlonal mcome and living
i standards ) . ..

R

TN e 2

TIET

=, Many econ _l"nlC issues and. problems cannot be satlsfactorlly classified as micro or macro and
"‘encompa<s both:branches of economics. For example, an increase in taxation on ‘petrol may

reduce the demand for petrol. There is both an effect on mcome of rndlvu:Iuals (mlcro) and the
revenues ofgovernment (macro) '

1.2. Normatwe and Positive statements : !_ B
Economrsts cannot always be certam that what they say.

“is complétely accuraté:of how the
advice they provtde W|ll aﬁ‘ectan economy e, M

POSITIVE STATEMENT is based on emplrrcal or acual :.r i

’ > Statements about economlcs that can be oroven
Tm o= EeaidhT zi:uar,m_ oy

« These can be supported or refuted by evide

° ror example following is a positive statement: ’*he infiation rate in 2009 was 2.5%
! . Staternents about the future can also be positiva s*atements For example The service
sector will grow by 30% in size over the next hve years.”:

tatement is capable of being proved or d|sproved even though economtsts may
have to wait for five years to know whether it was actually true or false.

NORMATlVE STATEMENTS involve value Judgments and are ones that are SUbJECthe about
what should happen :

UMtR

o/n
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+  Those statements connot ho ‘.m)p(_und or_yn[u;od.
« They are oplnlong about how c‘umt)mlr". .mu lnml r't luould Wo{
«  For example, the (ollnwlnuflnlnnwnt .nnlmnhntlvo' Sy
o ‘The government should cut fuel tax to reduce the rate of Inflation.”
o 'Public sector workers should rr'(luu'lholrdom’md"forhl[ghcrwaﬂc
« These are often drawn from the economlst’s por:uonnl\/lowe, politlcal bellefs 3nd ethics.
Normative statements tend to contaln words ke, hould’,nnd oupht Although

sometimes positive smemenL also contaln tl‘m 0 word

’ ’ Y & »!
o G e
’w Y B I gt «,
"

1.3 Production and Consumption . ' e S g b,
PRODUCTION is the process of c1e1t|ng goods and. qmvuc' iin.an economy: Goods and services L
have theQ:apacntyto sausfy wantsﬁ -'-’— : e Ul g il

CONSUMPTION is the process by whuch coneumc:s sulnsfy thmr W1ntJ
* Some goods, such as sweets, ;laro quickly used.up. el B T .
¢ Consumer durables, such as refngerators and mobnlc phone satisfy?'\)\(ants'ovjeyig’,'

longer period.
|

R

1.4 Fhe tlme dlmenslon :
SHORT RUN is a time period when a firm can only change

some and rot all factor inputs. At
least one of the factors of productxon is flxed ‘ ‘ ; f .

LONG RUN is the time period when all factors of. productnon are vanabl ‘. Flrm mavy'lmprove the N
quantity and quality of its capltal by bUlldlng a new factory to mcrease ItS output'Thxs Ieado to R

greater efficiency in the longrun. . o ) AT

s |nto prod

VERY LONG RUN'is a time penori when all key mput able." These kéy-_',h,"‘ 7
inputs can lnclude technology, go»cmment regulatlon T
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'(u) Labour

" of the issues related to labour are listed below:

. 2 & Basic economic problem

7 Basic economic problem

2.1 Limited resources SR ,'_
RESOURCES are inputs available fc ' Ve ey L e T -
of FACTORS OF PRODU(_‘TloNe :Zr the production of goods and services. There are four types

the resources that are
combmed to roduce goods and
services. These include land, Iabour capltaland eﬂtErpnse . _ ’P g

(i) Land :
LAND lncludes the surface of the earth and a

mxnerachIleposns and the’ chmate Some of the.major |ssue5 with’ respect to Iand mclude
he reward for owning land is the i |ncome and rent that is generated
Land is scarce and it cannot be mcreased in quantlty |

such as forest and fish can be replaced by natural process whereas NON-RENEWABLE
RESOURCES such as mineral deposrts, onl and gas cannot be replaced once consumed.

o There is a concern at the rate at which these resources are being depleted.

Higher levels of consumption today means that we enjoy high levels of living

standards today but this will |eave fewer | resources for future generations with

the concern that the high living standards may not be sustamable in the long run.
o “Another concern resulting from the’ rate of. consumptlon is that it is leading to
higher levels of pollutlon that may lead to' poor l|\nng standards in the future
s Quantity of land can increase due to dlscovery of mineral reserves, or 1mprovement of
water-logged and eroded Iand ‘It can Hccrecs due to depletion_ of resources water-
logging and erosion. DS ' e
e -Quality of land can be rncreased ‘cnruugL 5 of c‘mo]ogy ‘use of pestludes and
femhzer, and tralnmg of rarmers Tms wrir .eqr, ro increase inr roducnvuy of land

LABOUR includes all mental and physical effort of num ans ic oduce goods and servrces Some

« Wapes and salaries are paid to labour. - _ .

« Labour can be both sk cilled and unskrlled Sknlled labour |s more productlve but demands
higher wages, whereas unskilled labour is cheaper but less productlve :

« Quantity of labour increases because of increase in populatlon size, net nmmlgratron
increased woman participation in the labour force, and hlgher retirementage.

« Quality of labour can increase through trammg and educatlon better Ieadershrp style
that motivates the employees and us of machmery These. steps lead 1o \lncreasn in

ploductlwty of Iabour

ScanndyCamScanner
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. Another important lssue In recent years that has emerged s that of lemalle rlfat:tlcrmen :
i \abour force. Most of the nations are evldenclnb an increase in. fema eka our force -
participation, This leads to an overall lncreaqe In supp|y ol Iabour in the mar et

i) Capital
\(:A)P\TAL includes all man-made aldes to production such as robots, machines, software and
spades. Capital goods increase the lproducnvrty))f antl/qualrty>of productron from land and
\abour. Issues with respect to caprtal include: - 2, 0 e
o The reward for caprtal is the rate of return and |nterest that |s earned

Capital good<rrnproye the productivity levels. in the economy ki s - e
Working_or_circulating_capital is stocks . of raw materrals, semr-ma‘nUfacture’d,and.'-,'
finished goods which are waiting to be sold N i e = £ '
Fixed capital is the stock of factories, offrces plant and machrner
transform working capitalinto fmrshed products P : : A
. There is a threat that a rapid change in technology may make B <r>ung caprtal obsolet= Do
« Developing economies:=da.nat have enough resources to invest in “cepital. They then
have to import capital from developed economies.

Quantity of capital increases when net rnvestment is nosrtl/'
greater than capital consumption) and through rmports

« Quality of capital can be |mproved through rnvestment in H&D 1,m'p'_r_o'y'e the state of
technology. . : Gooie I

Itis used to

{gross investment is -

(iv) Enterprise (Entrepreneurship)

ENTERPRISE performs two functions in an economy [r) entrepreneurs
factors of production to produce goads and services; and (n) entrepren
with investment and production. Enterprlse rnvolves followrng issues

e Profits belong to entrepreneurs

* Firms can be large-or small. smaller firms have few 'rés’ourtes’ nd are usually run 'b’y"'
single individuals (sole proprietership). Larger firms have more resources, engage .’

specialist managers, use division of labour, and sell shares to: shareholders (publrc o
limited companies).

rganrz other three
take risk as_so_crated

Quantity of enterprise can be increased throngh trarmng and educatron of workers ano
through investor-friendly government polrc:es

» Quality of enterprise improves through use of trammg and educatron ‘and experrence

Contrrbutron of enterprise to the economy’ T -
Market is performing an increasing role’ in almost all economreg

opportunrtres for the’ development of. an enterprrse culture W rereny- who are prepared-
to take risks may achieve substantral busrness SUCcess For e»ampl\ _Mlan-Nrshat (Pakrstan)

Rata Tata (India), and Richard Branson (UK) have burlt up larce husrness emprres Entnrpnse
brings following benefits to the economy:

Thrs "has provrdeo R

"o Enterprise starts new frrms and’ rncrease rnvestment rn the economy
J lt creates new [obs hence lowering unemployment Ain the economy

Scanned by CamsScanner



2 — Basic economic problem

Enterprise leads to lnnovatlon asa lot of new and h| tech products are introduced by
new small firms, Co b aL

¢ Successful firms can become Iarge multinationals.

Profitable firms will- give more taxes to the' government that can be used to build

infrastructure and improve economic effucuency St SR '

* New firms provide competition’ "to. exrs’ung flrms tha leads to more ChOlCe for
consumers, lower prices and better quahtv products due to competltlon

New firms can also lead to’ rise in: exports and lower lmports leadmg to ,mprovement n
“balance of payments.

s

New firms improve social cohesnon by allowmg poor or mlddle class lndeuals to earn
hlg,her rewards by mvestmg in successful busmesses ; '

Use of factors of productnon in dlfferent sectors in the economy

All factors of production are required to produce goods and services, however thelr relatlve
importance and use depend on the sector and the productlon methods.

ECONOMIC STRUCTURE refers to the way in Wthh an economy is orgamzed in terms Of SEEADES;
The following sectors are recognized: . o

1. Primary sector: PRIMARY SECTOR con5|sts of agnculture flshmg and actlvmes such as

mining and oil extraction. It requires more land and labour. However ln recent years there
is an increase in use of capital such-as tractors and tube wells.

2. Secondary sector: SECONDARY SECTOR consnsts of a range of manufactnnno actrvmes such

as food processing, textiles, clothing, iron and bLDEI produc‘non It¥also consrsts of
construction. It requires more capital where machme are used t'\ produre more goods and
services. Again within it, labour-intensive production techrigues tse relatwely more labour
and capital-intensive production technigues {such 3s fiow production) requrre relatlvely
more capital. R - A
3. Tertiary sector: TERTIARY SECTOR consists of services suthas reailing, transports, logistics,
banking, insurance and education. It again neads al E
more:labour-enterprise: It also requrresalotcle *emr‘:;&;ﬂ :
7;41 Quaternary sector: QUATERNARY SECTOR is a term uscd to o’enote tlm knowledge -based
* part of the economy, especially the provision of information. Typical examples include
scientific research and product development, and computmg lt uses a lot of technology and
alsorequires skilled labour. : -

j)l productlon but is usuallv

The economic structure changes with the level of deveIOpment of’an economy ln de\/elomng
countries, the largest contnbutlon to GDP comes from’ pnmary secto Wthh is also the largest
employer. In developed countries, the tertiary sector tends tor be the largest employer and also
contributes more toward the GDP L R

Factor endowment ' A : :
FACTOR ENDOWMENT refers to the avallablllty of facto_,p_f_p_mductlon-lnan econorr\y For
instance, Saudla has abundant oil reserves; Pa|<|stan has good climate and land suitable for

—
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2~ Basic céonomic

agriculture; Japan has a ot of capital; etc.. Whereas all factors-of productton will be ; avauab,
all economies, however, economies will. dh‘fer in. ternts of the abundance or shortage offact o
For instance, .poor and developing economres have bundant laboUr whrle lacmg Shorta g of
capital; developed economies have abundant capltal and lace labour shortages Saudra is Fich iy
oil; Pakistan has good climate and land’ for agnculture Chrna has a lot of skrlled and Cheap
labour etc. This leads to following issues: T T e T e T
«  Abundant factor is cheaper and the shoit factor i more expensrve Therefore we fmd
that labour in developmg economres (where it is abundant) is cheaper than labour m
developed economies (where it is short) On the other hand caprtal rs cheaper ,n; g
developed countries than mdevelopmg countries. B RN
« Economies tend to specialize in those products that use more of thelr abundant' '
resources. Therefore, developing economies are expected to specialize in labour-
intensive technigues, and developed economies are expected to. specralr;e in caprtale,'_,.f
intensive technigues. - ; A » I

2.2 Unhmlted w ants A : :
Consumer desrres can be drvaded mto needs and wants

(i) Needs oL : : T
NEEDS are-those desrres that must be satrsﬂed lor a ; / ] flt.canv, mclude both
physical needs (such as food, shelter and clothmg) and osycholoe*cer reel'o (Juch as the need to-
be loved and cared). Needs are ltmrted L : ~ LA :

(ii) Wants :
WANTS are desires that are less essentlal but can rmprove the quahty of hfe They can mcludo
cars, holidays, cinema, TV and like that.. RS - : :
¢ Wants are unlimited and are contmuouslv exoandmrz and changme lf one want Is | o
satisfied, a new want will cr.mrge :
¢ Individuals desire better food, luxurious housing, better workmg condmons etc Firms
want more profits and expansron -af... busmess Society ‘may want lmprovecl
infrastructure, low mflatron hrgh economrc growth and better living’ standards
* Wants can evolve with our age, ol féxperrences 0 nt"and social cir cle, andf‘.- .
through our observation. Every mdrvrdual has 4 scaléof oreference that determlne., his. -
needs and. wants.. This scale of preferénce: depends on an mdrvrduals culture hrs i
“upbringing, and his life expenences ' " e R
e Wants are also somettmes called luxurres A luxury
a need for another. . e e E
* Somne wants expand as we grow up,'rrja'r_ry’ an“'c_{ ra'ise ¥

forone in vr\dual_.'r_na_y-be c'onsidere'd»

2.3 Scarcity and Choice : .
SCARCITY is the fundamental economic . problem of havmg seemmgly unhmrted wants'in a.
world of limited resources so that all wants' cannot be <atrsf|ed Economy and the decrsron '

Scan ned by CamScan ner



: - o . 2 — Basic economic problem

. reso l'C&S are SC&I‘CQ

makers hence have to make a chorce CHOIC'”.underpms the concep h
' ' 'cnety has to make

so choices have to be’ fade; by consumers
following choices: ‘ B
¢ What should be produced'v’
« How it should be produced?.
« Forwhom it should be produced?

Wwhenever a decisi ' nl e , :
ion maker faces shortag_and makes a chonce_ﬂ\[g Lrl e to oggortumty cost.

2.4 Opportunity cost
p
8p;g::::l?yl?;stcgg;r! ;ilszsf;nnEd as the beneht foregone on the next best alternatlve
Aburidant Fesourtes sich o Tcahrce resources such ‘as land, machlnes, burldmg and labour.
have no pportilnity. tosts: Al 2'8 t.and sea water. do: not lead toa probiem of scarcity and
ecision makers in the economy w:II have to face opportumty
costs. Some of the examples are given below. c

e Consumers have limited income-and cannot purchase all the goods that they want. If a
consumer decides to. buy a TV, then, that consumer is: foregomg the ‘benefits that he
couid have received ifhe had purchased another good such asa washmg machine

o Similarly, if consumer decrdes to spend hlS lncome hrs opportunlty cos
the interest Iost on savings. s L _

e Firms have limited income and finance and cannot produc
demanded. If the firm decided to produce product A, then, the profit they could have
earned from producing product B is the opportunity cost of producing A.

° Governments have limited tax revenues.and cannot spend on all acuvutles required in an
economy. If they spend money.on defence, then,’ they are. 10!’ch|[‘|" ‘the benefits they
could have received from investing in health and education. '

o Similarly, if government decides to inc s
population, the opportunity cost will be
resulting from lower dxsposable incorme.

. Workers have.limited time avanldble o' them, ol
worker decides to work in a certam occupat or

another occupation is his opportumty cost. i 5
o Similarly, when workers decide to spend more time' on work the opportumty

cost is the time they could’ have: spent on Ielsure actnvmes
« Others such as charities and mternanonal orgamzatrons face sumllar problems »
Opportunity cost is even present between the choice of present- and future. If a society

decides to spend on capital goods, the opportunlty cost is. fewer consumer goods that
reduce short term living standards. .

t wnH be

e all products that are

by taxing the
in savings

a
=]

nities. When a
rom working in

i hv‘ﬂ ‘n

presents the true cost of taking 2 decision and economists include the
of taking a decision. NOTE: Scarcity can be shown as the are'a outside
be explained using PPC and a movement on the curve.

Opporturiity cost thus re
opportunity cost in cost
PFC. Opportunity cost can

Scanned by CamScanner
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s and Free 8 uoods
hose goods whlch hav 3
d grve nse to opportunlty cost

y factor of prod uction to‘be produced 5

2.5 Economiic goods
ECONOMIC GooDS are t
These goods are scarce an

FREE GOODS are those goods tha‘t do not reqmre an

o There is no price for free goods. . '
wrld berrles etc.

e There are very few examples of free goods mcludmg alr, )
As the population of planet has mcreased the number of free goods has decreased

Free goods have no opportunlty cost :

2.6 Economiic quesnons R P AT
f scarcity leads to-choice: that means{ njeconomy. as.
om whom to produc

The problem o
produce?; ii) how to produce rt'-’ and m) fr

nts because- of scarce - :
generally would lrke to

(i) What to,prdduce7 o
Since an economy cannot produce all th
resource, it will have to decide what shou
produce those goods and services that maxrmrze satls

Id be produced The economy
factlon and economrc walfare

i.e the |nteract|on of demand and
‘indicates 3 higher- demand and
ower productlon of the .

Free markets make thrs decision based on pnce mechanlsm,
market. A hrgher pnce

supply forces. Prices give signals in the
firms produce those goods and services whereas a lower prlce leads to |

good.

es take the decision based on socral benefrts and socnal costs ’The decrsron is*

Planned economi
imize socral welfare

taken by a central planning authonty and tnes to max

- (ii) How to produce?
Resources available to an economy are scarce in relatlon l
therefore has to decide how best to: use its: resources -to"m Jimize. rhe outcome Economles o

have many different productlon methods to ' choose’ fronr‘ ‘ \/"canuse labour mtenswe or
capital-intensive techniques. Free markets base the decision: using demand and supplv forces -
Other things remaining same, an ecohomy ‘will use the producuun mct‘wod which ‘uses more of 5
its abundant resource and less of its scarce resource. In planned economles thlS decision is also |

taken by a central planning authority-

unum.?ed wants The economy

questron must not be addressed on purely economlc terms We also
dmg this: questnon For mstance use of slavery or forced,.

‘economy ‘but: theré'is a" moral objectlon ‘1o’ thls
e of

prove agrlcultural yrelds but can- lead to damag

It must be noted that this
need to consider other issues when deci
labour can increase production in an
arrangement. Use of GM erops can im

ecosystem.

v 2t S ———— i

R & ‘ -‘ R o . e |
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(iii) For whom to produce?

The question here is that how
conomy such as rich and poor; YO

demand so that an

groups inthee

each group has unique
groups. Decisions have to be taken

satisfied.

\n free_markets this decision is take
of each group will result in change in prices.
and they can make more profits. In’ planned economie

authority that judges what is best for the economy. SN

Some economies deliberately attempt to Cre
income. This can be done. by taxing the-ric
economies, no such attempts to redistribute income 2
question, more aspects of decision making are again i‘mpdrwtan"i.‘_ ¥

« Whether everyone is going to-havea more 0
« Whether some will have more than others?

RS

N

/

B et e Ay g ¥ -/ 92 Bdsic economic problem

N

oh PR D e P

i i FRAY]

A .

N

.of..each l;ers'rj|'1"SIWants‘ are to be satisfied. The're are many
mary ung and old; urban and rural and like that and
economy cannot’ satisfy all the wants of all the

, fan h'person’s wants are to be

TR R,
AR

-oncerning how many of eac

rIR

SRIIIIAANILY
SONRNIRRARNG

A

fl\éé'élequal éhajfé'bf what is produced?

_

)

R

n through the price mechanism where derhand and supply '
Firms produce those goods where prices are higher
5 this degigibn,»iS;»_;aken_by the central

AR

=10 AT

2|

> E S NNANTY Y

ate a more equal .c,_iistr'ibu_tipn_ of wealth and
h and paying benefits tb ‘the’ poor. In other
nd wealth are made. In answering this
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3 —Production posslbﬂlly cur"'
—— Cirve

3 Production possibility curve JENL e

PRODUCTION POSSIBLITY CURVE (PPC) shows the maxlmum cornbmatlon of good, an,JT
services that an economy is capable of producmg by fully and elficuently utlllzmg its’ g"/nn"
resources and the state of technology. i :

* The productnon possubllnty |n an cconomy ls Ilmlted by the resourcns avallabla and 'tatov '

7,4 7.

PPC.

3.1 Shape of PPC

Shape of PPC depends on whether we assume. constant opportumty costs or mcreasn
opportunity costs, . 2 .

. . Military
Constant opportunity costs and Linear PPC . | oods -
If we assume that gpportunity cost remains same,. | .. |- i
then the shape of PPC will be linear (downward |- ™~

. sloping). This is not very realistic and assumes
that resources are perfectiv moblle for both
© goods.

FACTOR MOBILITY refers to ease by which factors - e
of production can be moved around. If factorscan | =" 0o
be easily moved around different industries. or
regions, they are called mobile. If it is di
industries, they are called |mmoblle

*. Consumer goods -

ffucult to move ractors around dnfferent reglons or.

Increasing opportunlty costs and Concave PPC : : . EE g
Since resources are not perfectly mobile, i.e. resources are speCIallzed in their nature and
cannot be equally efficient in. production of all goods, it is _more reallstlc to assume that =~ .
opportunity costs rise as resources are shifted from productnon of one good to anoLher Thb E
results mawofPPC that slopes downwards

: Agvlculmml
For example, assume that an economy produces" goods”

two types of goods — agricultural goods and | A B
manufacturing goods. As the economy. moves’
from point A to point B, initially only the least -
fertile land is- reallocated . to production . of "

manufacturing goods. This means that: there'is” | " 1

very low loss of agricultural output® (low. |- L e NE T
opportunity cost). As economy produces more | ‘ ‘l ‘ l\\; ,
manufacturing goods, it will have to reallocate | - .,o_ SRR YRR
more fertile land which will mean that the | g e """Ma““‘““”"‘"33°"“__""

decrease in agricultural product:on will mcrease lnadlng toan mcrease in opportumty cost.
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3~ Production possibility curve
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Explanatron ' co e

» At point A on the curve, -economy. Proc\uces ‘only agricultiral” goods (om) and no

manufacturing goods. The opportunrty cost\rs therefore 'ok’ of manufacfurrng goods.

v At point B on the curve, economy prod ces ‘on’ of agncu goods and ‘og’ of
manufacturing goods.. To produce og’ man facturing goods ‘the opportunrty cost to the
___economy is ‘mn’ of agricultural goods that is\foregone.

T At point.C on the curve, economy produces ‘oo’ of agrrcultural goods and ‘oh’ of
manufecturing goods. To increase productign of manufacturing goods from g to h the
loss in agricultural output is ‘no’ which is the bpportunity cost.

v At point F on the curve, the economy on\y produces manufacturrng goods and the

opportunrty cost is ‘om’ of agrrculturalgoods :
.J »

The table shows'that the opportunrty cost keeps on lncreasmgv_a‘s we move from point A on the
curve to point F. . £ : o

3.2 Arrralysmg economic performance using PPC Petegianh o U
PPC can show the maximum level of output that .an economy can ‘achieve with its existing
resources and the level of technical knowledge T ‘

Cood_ Y

Points inside PPC (e.g. point A) are achievable; |
but are either -inefficient; or there is R e
unemployment of scarce resources. To overcome
these problems, the economy should move i ; _
toward PPC by increasing aggregate demand (AD) o LA
to increase employment;  Of promornn '
competition to create efficiency.

S

All'points on PPC (e g. pornt B) are achrevable and Gl : . 'G‘mg
show full employment and productrve efncrency of scarce resource "Economic_efficiency
means that economy is maximizing its satrsfactron wrth scarce resources however all ‘wants
cannot be met because of scarcity of resources Firms are producrng goods at their lowest cost.

Movement on the PPC shows the opportunlty cost PPCis hence called product transformatron
curve. This helps an economy ‘take a decision. about how to allocate resources i.e.. which
combination of goods and services should be produced :
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an and cannot

S

' 't C
PPC shows the boundary between Wi:ztas on 0”
productron possibility ‘frontier. All pO :

PPC are not achievable.

2 D e et
e i TN S e MO A

NS

chlevable wnth current resources
oint C) show scarcity. These are %}?&smg quantlty of quality
Poinisoutside 2 B 5. my can achieve points above | reallocatmg resources frorrr”»vz '
or state of technolog; Efc;r;o g o state of techno ogy "
of its factors of production,

etrade R R ATNF VE R |
consumer goods to capital goo

ds or engaging N r2e 1208 T T e

d from one use to another
alize that resources ne_;féltqo Ob(; S;{};I_i,t(_-)euRCES refers to deliberate
: to another Economy has to incur
productlon ‘of _.':;-'product to the
Vi s’kllls. 10 “WOI

PPC helps policy-makers to re c
This is called reallocation of resources. REALLO

movement of resources from productlon of one prfog;ct

substantial training costs to reallocate resources ; t'” roc
production of another product Tralnmg |s requnre 5
requrred to produce drfferent types of goods and servrce a7

Shifts in PPC shows economic growth

Explaining Microeconomic and Macroeconomlc concepts on PPC ; COS 7
Microeconomic concepts that can be explamed “Scarcity and Opportu:| y C r(;Wth
Macroeconomic concepts that can be explalned Unemployment and Economicg

3.3 Shifts in PPC o
Shifts in PPC take place due to a change in quantlty or quallty of facters cr of oductlon a c ange::_ -

in the state of technology, and allowmg free trade

Economic growth ‘
ECONOMIC GROWTH refers to an increase in'the productlve potentlal of the. economy and i ls"-,:
shown as a Shlf‘t outwards of the PPC. It takes place due to mcrease m quantrty of ‘factors- Of",‘-'
production, |mprovement in quality’ of factors of productlon "a. rmprovement |n7technologl].
and a reallocation-of resources toward producmg more capltal goods ‘ P %

s Increase in quantity of resources means that economy Wil ‘be, able‘to produt:er\_P_f_ej
goods and services Ieadmg to an outsnde ' E
shift in PPC.

e Improvement in quality of resources or in
the state of technology lmpro_ves R
productivity of the factors of production. .
PRODUCTIVITY measures the ratio of
output to input ang can be measured by : C e
labour productivity or capital productivity: | - | - N =\
An increase in productivity means that-| .. L TR i R

economy can produce more goods Wlth 1
the same resources. ERCIRE ?

Good Yy °

i b
C
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_production  has

e . - ) ,. ) .' 'v‘ o
under consideration, P ndsv O‘“‘ how the C‘h.aljg_ta‘s_arg‘lpke,ly Po affelct ;he two goods

If the change in resources SECU
or improv
PPC, then, PPC will shift outw g ement ln teChnology is llkely to affect both goods in

ard’ paralleiy as shown ln the 5rgure above. .-

If the change in resources or improvement -— .
in technology is likely to affect just one | e -
good, then, PPC will pivor outward .as |, ] -

shown in the figure below. For example an -
improvement in agncultura[

technology' ‘
that is not applicable . to’ manufacturmg :
products leads to a pivot in- the. curve,
Maximum  amount -of

agrlcultural | B
‘increased . “but. . the

of manufactunngff
production remains the same.

maximum amount

e M"di\uhgluﬁng
' pmduct :

Apart from maximum production level of manufacturlng (WhICh does not change) at all
other levels of agricultural production, manufactunng has mcreased as shown in the
figure. With the same agricultural production Ay, manufacturmg production increases
from M1 to Ma. This happens because increase in- agnculturai productwnty means that
fewer resources will be' reguired: in agnculture “These’ addstxonal resources can be
shifted to production of manufacturing products thus increasing their production.

manufacturing productuor* /‘g ure’ igan input

improvement in quaixt\/ of raw material 1 )
mcmufacturlngmdustrylcadmgtoar.mueabc s e ‘*:’.‘..m.dqtput

VLA

lnward shift in PPC : S . ,
It takes place due to fall in guantity of factors of product:on deterloratmn in quallty of factors

of production, and negative net investments.

economy will be able to produce fewer

GoodY N LT
Fall in_quantitv. of resources means that | . . . -

goods and services leading to an inside
shift in PPC.

Deterioration _in _quality of _resources
reduces productivity of the factors. of |
production meaning that economy. can_:
produce fewer goods - W|th the same

resources.

- Good X
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‘ ffect the tw

the changes are hkely to a 0 800d
i ’ iftin PPC depends on how
Exact impact on the shi

under C(:m:de:\atlc:; in resources Is likely to affect both goods in PPC then, PPC will Shlft '"Ward
o Ifthechan .

parallely as shown in the flgure above

o Ifthe change in resources affects Just one good thel_, ‘

i prOt mward i

Combmatlonoftwofactors T SR Wy Py onsidered. .08
Each factor has to be consrdered in rsolatlon and'then an ove_ralll lmpactnee‘js .tq be 99?“."”‘?"- A

An increase in one resource and a decrease in another resource. : ft : mwgrd Exac.t Co
Increase in resource shifts PPC outward Decrease rn another resource shirts:

effect cannot be predicted. It depends on the strength of each rmpact If the xmpact of mcrease
in a resource is greater than the impact of a fallin__ ;
resource, PPC will shift outward and vice versa.

Apricultural ]
Product
Increase in_agricultural productivity and 3 fall in e e
manufacturing productivity - . ... . _L\\

Increase in. agricultural producnvrty means that". S ,_“4 ‘k
there is an increase in maximum agricultural |- - [ N
production. A fall in manufacturing productivity | - v h
means that there will be a-fall in maximum

manufacturing production.  The net rmpact |s_
shown in the figure. =~ = .-

o 'Mandfncturlng" *
- product -~

3.4 Capital goods or consumer goods

One choice facing an economy is how much to spend.on consumer goods and on capltal goods
The impact is elaborated in following pornts ' . . : . o
e Spending on consumer goods mean that .ndmou s .VH be able to enjoy a hrgner

standard of living in the short run. However, this means less investment in capltal goods )
which may lead to fewer goods consumed
B . in the future.

Consumer

..+ Spending on capital goods increases the |“"™ 1 <
capital stock of the economy that leadsto | . .-
increase in productive capacity of the [ = . .
economy. The exact impact on - the
economy depends on. the. size of

- investment and capital consumption. .. -

£L e

CAPITAL CONSUMPTION is 2 term “used- to. |-
describe the amount of capital that is used up
“(worn out) during the process of production. This

T m "m' ‘.-'-.:.';_ s

HEREY
Capital consumption

- Capital gooas | 4o
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3 —Production possibility curve

is also called depreciation and i
is assumed tope area ’oa’ In lhe ﬂgure

IN\flE?;wa[ ':: I8 rt:; c;eatlon of capnal Bo ds in the process of productnon and’ can also be
defin y production that is not for cur ent consumptlon 'GROSS INVESTMENT is the total

quantity of capital goods produced in the economy .NET INVESTMENT i gross investment.

minus Capltal consumption.

Net ]nvestment = Grass In estment - Cap[tal consumptwn

if

If investment is greater than capital consumptlon (positnve net lnveatmeLtL there will be an
increase in capital stock of the economy ledding to an gutward shift in PPC. Investment in
capital stock will mean that fewer consumer goods are manufactured leading to a decrease in
living standards in SR. However, this leads to oUtward shift in PPC which means more goods can
be consumed in the future leading to lncrea;se in living standards in LR. Therefore, there is
trade-off and the economy has to decide the optlmal level of lnvestment

If investment is equal to capital consumption it wull jUSt malnt“' the capltal stock in the
economy and this is the minimum investmentirequired to mamtam productlve capauty and
PPC. ' K e v R

If investment is less than- capntal consumptlon (negatlve net mveftment_), |t wnll mean that the
capital stock in the economy will fall over time. Individuals will be abic 1o enjoy a higher Jiving
standard in the SR but there will be a fall in living standard over time as PPC shifts inward. 'Less
investment will also mean that guality of an econamy’s capital goods remains underdeveloped

and full benefit of technology will not be enjoyed. RIS ‘

3.5 Choices for developing econanies (very ;xuu; f.q,\/elopmg econocrmies}
DEVELOPING COUNTRY is characterized by low standards oF living. These countries need to
prow_capital stock if they want to grow and improve ther tiving standards. However, these
countries have very few resources that are hardly sufficient te maintain SUBSISTENCE LEVEL OF
CONSUMPTION, i.e. the level of consumption that is needed to keep the population alive.

« Problem of these developing countries is " comumer’ - - iy :
that almaost all of their resources are’ | #ood . fr
devoted to subsistence. :

e~ They are not even able to invest equal to
capital consumption esultlng in anf :
inward shift in PPC in the LR leadmg to_
food shortagesin LR. :

¢ If they divert resources to produCtion:_of;
capital equipment, it will reduce
production of consumer goods leading to
problem of survival again butin the SR. .

o

LI TP
i
S

. -Subslstence
SRR AN TS

[
o

s Capital goods

e ——'
T

Capital caf'nsumpnon )

—
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. 3 = Production possibility
: Cu
e W' ’ ’l,".': : * .. rve

nt is ecLual to 02 (capltal Consumptlon) there +,
tment is- less than @, it. wnll be d;fﬂcult to 8

The f‘gure explains th|s concept If eross mvestme
would be problem of subsnstence If gross mves
sustain current levels of consumptlon

Solution to this problem is that economles can try to. attract foretgn c}iréct‘ lnve"s;t-mte'_'t'lt,‘_'?'jld '6},;“_‘;,:
fore|gn dEbt o . e PRI R SR
These will enable economies to increase thelr capltal stock wnthout havmg to dlvert theur own.
limited resources away from consumption. However, it can result in following problems: - '

« Foreign debt will increase indebtedness and this will mean that these economies will
have to pay a higher proportion of their income in debt pane”tS If foreign debt is:
invested in inefficient projects (which commonly happens in less develorJEd countues)__ :
this will mean that there will be an addltlonal burden on the eronom‘/ - S

« Foreign direct investment will add to capltal stock and improve ‘economy's balance of :
payment. However, foreign firms will take away proﬂts ba\x to the;r ceuntnes inthe -
future and may also exploit workers and enwronment oy L

* Aidi is not SO forthcommg and is usuaHy MSufﬁCIent

Developed economies thete.fore feee a'major 'c}halle_nge‘ in_’te;h't$ oﬁ'rf:soi;.ﬁée aliocation.
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4 Money = S S e

MONEY is anything that is generally accepted as a means of payment lt mcIudes national
currency such as dollars (US), pounds (UK), euros (EU) and | rupees (Pak|stan) _Apart from notes
and coins, it also includes cheques, credit cards and debit cards. Coins or notes themselves have
little intrinsic value. Their value comes from the fact that sellers have complete confidence in

money and are willing to exchange goods and services in return for money Money can also be

in the form of a valuable commodity such as gold or platinum.
[ ]

NEAR MONEY are non-cash assets that can’ be qmckly turned mto cash such as
government securities, foreign currencies, savmgs accounts and certnﬁ’ates of deposits.
These assets contribute to the liquidity of the banks by prowdmg a supply of cash if this
is needed to meet liabilities to depositors. LIQUIDITY is the extent to which there is an

adequate supply of assets that can be turned into cash. LIABILITIES are debt obligations. _

\
N
Cr

4.1 Characteristics of money

It must be noted that money does not need to have an intrinsic value, i.e. . coins and money may

have no or little value of themselves. Value of money comes from the confidence of buyers and
sellers on money and its ability to be used for exchange of goods and ser\nces For something to
be characterized as money, it must have following characteristics.’ -

e It must be DURABLE, i.e. it must retain the same‘éhape form, and ru‘bstanre over an
extended period of time. Durability also includes social and institutional durability.
o It must not easily decompose, deteriorate, degrade, or otherwise change form.

o Durability is critical to money to perform function of medium of exchange and

store of value. People are willing to accept an item in payment for.a good if they

have confidence that the item can be tradzd 2t 2 later time for some other good.
An item works as a medium of exchiange s
transaction to the next. ‘
o Refined materials such as go\d

H./Ll, cou

used as money hecause they are extremely

“.:.c{se it stores.value from one

=7 G mckel have mstor\cahy been
durable. =

Organic producls such as lettuce, ice cream or raw meat are not used as money
because they areperishable.

of modern_money, e.g. paper currency ‘and bank’ ‘accounts, depends on the
durability of\soc:a institutions such as bahks and government. Ability of paper

currency to act as money depends on the mstttutnonai stability of the
government.

o It must be DIVISIBLE, i.e. it can be lelded into smaller denommatlons that can be used

in exchange for goods of varying values

o For anitem to function as medlum of exchange et be dIVISIble 50 that it can

be used to purchase a WIde range of dtfferent goods such as cars and bubble
gums.
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o Metals (gold, srlver etc) have been W|dely used as money b 2C:

divided into smaller units. . Lo
o Livestock on the other hand has llmrted use as money as it cannot be et,s,,y

divided into such small denomlnatrons to buy sweets.
& Paper currency and bank account balances are easrly drvrsrble to match the vﬂ,ugw, ‘

of every good and servrce in- the economy For example, $1 can be converted'

into 100 cents. . D b . o
« It must be PORTABLE, i.e. it can be easrly moved from locatron to another locatron to -

complete exchanges. Ifitis difficult to carry money, then, trade will become dlfflcult X
0 Metals can be easily transported and. have hlstorlcally been used as money
However, ga_pe_rgrr_re_ﬂ_c_y replaced"metals because it was llghter and:easrer to-

- carry.’. - AR

o ltems that are phy5|cally heavv relative. to their: value in exc
portable. These may mclude thrngs like maple syrup, economrcs textbook and 2

radio.
-» |t CANNOT.EASILY.BE. COPIED R e o
o An item will i “=~its function of medlum of rchamel rr cari easrly be copled =y
and is available to everyone. It will'lose rtsvalue ifitis ec'sn\, copied: SN A
o Government prevents unrestrlcted dupllcatlon of maney. GCMemment controls R
the total amount of money.in circulation. Paper mcney can oniy be prmted by
the central bank and hence holds.its value. lounterfeits threaten this .
characteristic but government takes steps such as. redesigning; paper currency, ‘
adding water marks, mlcroscoplc prlntrng,' 'and magnetic . strrps to rr'ake
counterfeiting dlffrcult _ A :

e It must be ACCEPTABLE to both buyers. 'and.sellers “Unléss-money:is’ acceptable trade R
will not take place and the buyers and sellers will have. to resort to barter trade Thrs will
make trade slower, time consuming and cumbersome _ A y S

» It must be RECONGNIZABLE, i.e. people can easrly see! the rtem .

It must be UNIFORM, i.e. all versions of the same denomrnatron of money must have :
same purchasmg power. For example, a Sl brll prrnted rn 1998 would strll be able to buy o g
goods worth $1. : D e T R LT L

It must be SCARCE, i.e. itisin llmlted quantlty lf !t is easrly avarlable it wrll lose its value
There must be STABILITY IN VALUE of money, i.e. it must retain/its value, One ol the
most serious defects of modern money is that it may be affected by mflatron

j:a'fé'hdt easilY i

4.2 Functions of money
From economists’ point of view, money has four necessary functrons

e Medium of exchange : RS S

o Unit ofaccount S

e Store of value, e G

 Standard of deferred payment o

o
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i) Medium onXC':“ti‘;t buyers use for purchases and that sellers are wnlllng to accept in
y is @ medaiu

Mone h rchases. For example, notes can be used to purchas.e a bottle of Pepsi.
ge for pu

exch tial characteristic for anything to.act as a medium of. exchange is scarcity.
e Wle and acceptable to sellers. Otherw1se they will have 15
Money

§:\\\\\

NN NN\

Z
resort to barter trade. Tt should be portable and divisible, otherwise it will be difficult to “;
carry money 5y or to buy goods of lower denomlnatlon : //f
This function of money ,‘removes the need for double ._comudence of wants)ar'd //,/
therefore facmtates trade.- ‘, ORI LR L //

e It also separates the transact|ons in tlme and place because sellers and buyer: of z
commodity are not required to perform the transactions at the same time and place 7

@ It gives freedom of choice as consumers can buy a bundle- of goods and services. It
increases competition and widens the market.

@9 It facilitates exchange and helps improve economlc efhaency by allowmg specializaticn =
and dlwsnon of labour.

v
N

(if} Unit of account :
Money is used as a unit by which prices are established in doll:* s and cents. This function
_applies ta both current and projected transactions. _ ‘—"_—”‘ ;
¢ Money can be used to price goods and services, e.z. 2 bottie of mineral water. it z
eliminates the need of guoting the price ofgooos. in'tarms of other goods as in barter,
e.g. quoting price of sweets in terms of chocolates .+
« Money can be used to put establish exchanee'ratee‘. RN
It is also a means of establlshlng relatlonshlp bc WER YA
Slisequalto 100 cents. ,
This function facilitates accountlrg\/alue of mon ey can be. recorded and summsd,
accounting transactions are recorded in monetary vaiues. "
The function is also relevant for future transactions,

< units of a currency,

v
(0]

©

U.l‘l

for instance' when mene s
borrowed, the lender can add interest payment to tell the barrower how much ne will
have to pay in the future.

(iii) Store of value/wealth

Money can be held or stored for a penod of tlme before it is used lt can ‘be accumulated to
, provnde 2 source of wealth. : :
el To act as a unit of account, the good chosen must be something that is durable and can

be easnly stored. Also the holder of asset must have confldence that the asset will retain
its value over time. ' : 2 2 .

Money as a store of value IS used to meet unforeseen emggencnes and top ay debts.
Individuals’ wealth can be stored in. a range of assets and notjust money Other assets
in which wealth can be stored:can include bonds, houses, land dlamonds gold and like
that. The benefits of these assets can be that they generate income; and that their value
may rise in terms of money. However, they have drawbacks such as hlgh storage cocts,

]
T
!
r
\
7.

o P
i
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deprecratron in some of these assets, and rlhqwdrty of some of these assets 50 that the #0
cannot easily be converted into money. -
« Money is one way of storing wealth.: For. examp|e coms and notes bank depo’its g
bonds; stocks-and other forms of holdlng money can be. used as the basrs for Storaﬂe{. :
over time. Their- advantag s security, convemence and hq,urdrty HOWever the
drawback is that value of money may fall due to lnflatlon i

(iv) Standard for deferred payment : - S
Payments to be made in the future can be denominated in money terms in Just the same way,

as can a payment to be made today. Money is acting as a unit of account here w:th an added REE

dimension of time. If money can perform all of the first three functions, it will also act 25 a

standard of deferred payment. And a failure in above functions can lead! to a, farlure in the-
function as a standard of deferred payment.

» Money has simplified both the taking and repayment of loans unlike in barter where the

repayment of loan that was taken in shape of a horse or a commodrtv was drfﬁcult :

o It simplifies credit transactions that allows. credit. to be )ntroduced in the economy._»

Money facilitates borrowing by consumers to buy houses and like that; and by frrm, to’

invest. It helps in selling of shares and debentures that can used to buy_caprtal leadmp to
shifts in PPC, ‘ - : %

If value of money increases over time (such as rn deflatron) the credrtors gam and” :
debtors lose. If value of money fall over time. (such asin mflatlon) the borrowers gain .
and debtors lose. The uncertainty over fall in rise m value of currency can be overcome )
by linking the value of debt to a price index which measure rnﬂatlon Such mdex hnked
contracts help protect the purchasing power of 1 money g

Clnflatron and the functions of money% .
Inflation is the general and sustained increase in- prrce levels over tlme Inﬂatron adversely -
affects the functions of -money. However, the affect depends on the severlty of the rate of -
inflation. o : e ; : .

Low rates of inflation wrll not- have a major rmpact on the medr of exchange rt .s', .
only when there is hyperinflation that people start losing confidence in money and'may

resort to barter However, even in hyperrnflatlon such as m Zrmbabwe money was strH c
used. : :

/ The unit of account is affected by rnﬂatlon’

fifficult to' comparef" el

values over time. A nomrnal rise in: GDP can be‘due to"a rise’in.output evels or arise |n ]

price levels. To fmd the real change’ m GDP we need », o-'m é'f
figures.

/ Inflation also affects the store of value functron Fall in value of money due to’ lnflatronr_ o
should discourage " sigs as these would be ‘devaluéd.: People: may try. to.find ..
alternative means of storing their wealth such as gold, fofeign’ currency,iland and. rndex-'.,..-

linked financial assets. This is especrally true when. the real rates of’ mterest (lnterest Iessv-

rate of inflation) becomes negative., However some’ studies show" that mflatlon may g

ents to: nommai R
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actually result in a rise in savings as people believed they would need higher real
reserves in the future, =

1 L8 - I3 . ' P
o Inflation also affects the standard of deferred payment functron Busmesses may be 2?
e unwilling to ong periods of time if they fear a décline in value of money. /
However, people will be more. wil 0 borrow money as the real value of debt falls ¥
due to inflation. ' 3 o — fo
« Inflation may also affect demand for currency High rates of lnflatlon will make the - /fé
currency less acceptable internationally cau causmg a fall in lts demand and a fall in its P
value. —_— e - 5}@
Conclusion : : T L e S 7
It is important that money performs its functions for smooth working of all economies. If any of i;’j
the functions breaks down, people will lose confidence in money leading to economic collapse- =
Government_economic policies therefore try to ensure that functlons of money do not break
down. Otherwise it may lead to collapse of the economlc system e
4.3 Barter

In the zbsence of money, transactions take place by use of barter BARTER is

exchange of one good or service for another For mstance a. buyer may buy wheat by giving .
cows in return. ‘

Drawbacks of barter

Rarter has several drawbacks thet are hsted De\ow

There must be double coincidzence of wants. Both buyers and sellers must have the nead

for the goods and services that they want to axchange: In the absence of double

coincidence of wants, trade will not tzke place. rherefore, -the goods must be
not s

acceptable to both pariies otherwise trage will not take place. : :
« Goods that are being used in parier mey be nortable hence it wrll be difficult tc
Bl v iekclea

carry them resulting in reduction in trade and econormic activity.

Some of the goods (e.g. car) may r.m be Jr\'s,hlc' anc hence will not be able to buy
goods of lower denomination. : f

e Thereisalackofa w makmg trade dlff\cult as |t d\fhcult to find what
the market prlcefor exchanging goodsis. - . A : »

Future payments or contractual payments would be very drfflcult to make under barter’
system. :

Storing goods will be difficult as some goods may not b durable (e g |ce), and for

others individuals will incur heavy storage costs and the\r value may also declme over
tirne. : '

e Perishable
—_—

goods will need 'to be fraded quickly otherWiSe‘t_hey 'Will' Ios'e their value and
rot.

Bazrter trade is therefore slow, cumbersorne, time consuming and very impractical
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« Barter also forceslndwuduals td b
specialization and hence results m

Benefits ofmoney ' - |
If buyers and sellers have complete confldence in money, then lt w1ll have followmg beneflt, .

It will facilitate trade because there is no need for double comadence of wants
m Individuals, firms arA notjons can. speuallze in producmg certam goods and Servlces'

because trade is NOW edsy. e e |

@ This leads to improvement in productuvnty levels, hlgper output and lower COSt of
procygtlon :

Higher output levels leads to hlgher employment Ievels hlgher income: levels ancl better ;

living standards TT~——— Lo -—/”7 o ;

~./'/ Money 7 also facilitates mternatuonal trade and the economlm eet rubfequent oeneflts of &

trade. o ; A

‘s Money can be used for mal&ng future paymentg harafore credlt can be E'ISlly

</ introduced. in the economy that leads to . hlghev deimr "l, l"’l[fh" output-“ancl more ", '

employment opportumtles T L T e

Drawbacks: of money
Howeyer, money has its drawbacks too el : ,
\/The major drawback of money is the potentsal inflation that may result lf aovernment
prints too much money. High inflation levels may reault in a loss.of conﬁdence m money .
leading to a failure of the system. - : IR §
Another major problem with money is counterfeltlng Government needs to ta'<e steps ‘
against counterfeit notes and introduce measures that ‘restrict counterfeltmg In the i
absence of such steps, value of money will fall and people will lose conﬂdence in money g

It can therefore be concluded that introduction of money-in a barter economy will ac:l tate .
ati nal trade Thls leads to im roveme e
trad},,umprove efﬁcuency and increase internatio | p ntug ,

standards as well. ; o \/————
b‘-‘_- ,’ . ! . . N
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